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Introduction to Probability Part 2

Solution

25

6. P(hitsthet t) = ———
(hits the target) T

25 25

Expected number of times = 50 X —— =
P Zx10° 27

7. (a) 28+x+8=50
Sox=14

(b) Total frequency = 50
Frequency of landing on the side = 28

Relative frequency of landing on the side = 28 _14
50 25
.. Experimental probability of landing on the side = 2 z
.. Experimental probability that the cup does not
14
land on its side= 1 — 3%
_u
25
_3_1
10. P(even) = =3
3.1
P(odd) = z2=3
.. Expected value of the prize = % X $4 + % xX$2

11. The probability of winning $100 000 = 80 00

The probability of winning $20 000 = 800 0

.. The expected value of the prize of each ticket

1
= 8000 % $100000 + ——

=$125+$25
=$15

X $20000 + 2228

8000 8000 x$0
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